REARTXEZERIR EUBER:

;)
B |® = #E-K&-KER | B SEBRERS
1 J=| HREE
2 | N MEEE
3 K (4553 12%) ®mE XESH| 1600 [~]| 17:30
4 | K (4553 18%]) wE XESK| 1600 [~ 17:30
5 | & (455 182) %= KXESH#H| 1600 |~| 17:30
6 | L | Oo#mBaeFEATRL
7 | H
8 | A (455 #83%] wE XES#&K| 1600 |~ 17:30
9 | (455312 %) wE KXESHK| 1600 |~ 17:30
10 | /K (455 2 %] wE XES#&K| 1600 |~ 17:30
11 | K (455312 %) wE KXESHK| 1600 |~ 17:30
12 | & (455 2 %] wE XES#&K| 1600 |~ 17:30
13 |
14 | H
15 | B BOA, BEME HELA| 1000 [~]| 12:00
16 | K /JZX(;)J;(H:EFE%Q: wE RESHK| 1645 |~]| 1815
17 | 7k |FHAEDETD Fi:2 @E REBHE| 1600 |~| 17:30
18 | K| ARPEZmEXRS, bo—=2% HELA| 16145 |~| 1815
19 | & S @ XES®K| 1400 |~ 16:30
20 |t
21 | H
22 | A DROEFRS, wE KXESHK| 1400 |[~]| 16:30
23 || DeeE=EM, &= XESHK| 1400 |~]| 16:30
24 | K DRAEZER, s KESH| 1400 [~]| 16:30
25 | K DROEZRS wE XES&K| 1400 |~ 16:30
26 | & OROFE=-1) "= KESH| 1400 |~| 16:30
27 |
28 H
29 | H wE XESH| 800 |~| 12:00
30 K wE XESHK| 800 |~ 12:00
31 K wE XESH| 800 |~| 12:00




